
Demographic Characteristics of Mother by Race/Ethnicity, Oregon Residents,
2008-2010

Harney County

Demographic
Characteristics of

Mother
Total

Non-Hispanic Single Mention Race

Hispanic
White

African
American

American
Indian

Asian/
Pacific

Islander
Other

Total Births ...................... 247 220 1 9 – 2 14
Mother’s Age
     <15 .............................. 1 1 – – – – –
     15-19 ........................... 20 18 – – – – 2
     20-24 ........................... 72 67 – 1 – 1 3
     25-29 ........................... 77 68 – 4 – – 4
     30-34 ........................... 52 45 1 2 – 1 3
     35-39 ........................... 20 16 – 2 – – 2
     40-44 ........................... 5 5 – – – – –
     45+ .............................. – – – – – – –
     Unknown ...................... – – – – – – –
Marital Status
     Unmarried .................... 81 65 1 6 – 1 8
     Married ........................ 165 154 – 3 – 1 6
     Unknown ...................... 1 1 – – – – –
Mother’s Education
     8th grade or less .......... 2 1 – – – – 1
     Some high school ........ 28 27 1 – – – –
     High school

graduate/GED ............. 73 62 – 4 – 1 6
     Some college ............... 77 67 – 3 – 1 5
     Bachelor’s Degree ....... 47 45 – 1 – – 1
     Postbaccalaureate ....... 19 18 – – – – 1
     Unknown ...................... 1 – – 1 – – –
Birth Order
     1st ................................ 106 98 – 2 – – 6
     2nd ............................... 71 65 1 – – 1 4
     3rd ................................ 37 29 – 4 – – 4
     4th+ .............................. 33 28 – 3 – 1 –
     Unknown ...................... – – – – – – –
Start of Prenatal Care
     1st Trimester ................ 177 162 1 7 – – 6
     2nd Trimester ............... 43 35 – – – 2 6
     3rd Trimester ................ 4 3 – – – – 1
     No Care ....................... 2 2 – – – – –
Prenatal Care
     Inadequate ................... 11 10 – – – – 1
     Adequate ..................... 214 191 1 7 – 2 12
     Unknown ...................... 22 19 – 2 – – 1

– Quantity is zero.
 


